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Proposition 11.10. Assume th + — AW = 0f)in Qgr(to,zo) and Wf_(@;ff_)_z/(].
Assume f vanishes outside Q, g(to, o) fo ps € (0,1). Then, for any p; € (0, ps):

M. f e LL®(Qnlto, 20)) = W € LFCY™(Q,,pto, x0)) for any o € (0,1);

6 LWk (Qg(to, o)) :WGLmCﬁanRto x0) for(myae (0,1);

- 3. f € L®°C%*(Qr(to, z0)) for an a € (0,1) = VW € L¥LL(Q pRto x0))
@wck’a(%(to,xo)) for an a € (0,1) = VFIW € L LP(Q,,z(fo, 70)).
Finally, we will use the following regularity result.
Proposition 11.11. Assume that @m Qr(to, z0) and Wty — R?) = 0
Assume f vanishes outside ath(tO,acO) oran ps € (0,1). Then, for any p; € (0, ps):
1. f € L®L>®(Qr(to,z0)) = W € L¥*Cx*(Q,,(to, 0)) for any a € (0,1);

(2. f € L®WE>(Qg(to, x0)) = W € L*Cy (@, p(to, o)) for any @

3. f € L®C%(Qg(to, o)) for an a € (0,1) = V2W € L?Lgo(@piR(to, x0));

C4W(Q3(to,xo)) for an a € (0,1) = VF2W ¢ LfOLgO(Qle(to,@
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Proposition 11.10. Assume thaj@m Qr(to, o) and wo. O Q Cl)
Assume [ vanishes outside @psR(to,a:o 0 ps € (0,1). Then, for any p; € (0, ps): R h
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Finally, we will use the following regularity result.
Proposition 11.11. Assume that (W, — AW = [rin Qr(to, m9) and W(ty — R?) = 0.
Assume f vanishes outside Q,_ g(to,vo) foram ps € (0,1). Then, for any p; € (0, ps):
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